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SECTION - A
AL AR WAL S1ETURL G WAL oLl 2AML :

1. (A) s Hiledl Honaa-l sfuel oL dl 4wl

[Max. Marks : 50

10

(B) AR MUl stus BeldL $14 53l 30 sHRARIAAL BHR g2l ©. Al 15-24 315 <l

AL L UHLL ALY [AdRBL L :

10

16, 19, 25, 32, 25, 28, 33, 36, 37, 39, 44, 47, 49, 52, 53, 21, 23, 43, 42, 46, 34, 35,

41, 42, 45, 50, 51, 22, 26, 27.

2. (A) Heasl AL L dal HWeadd] GFRAHIAAL o8-8l Hidl g2l

~

(B)  AlRAAL MUl GuAdL S HeS A He2Y Ul

HRAS ezl 100 50 70 110 80
sHARRAIAL v 15 20 15 18 12
(C) AR 29[ (ARl wRell oiges 2Lkl :
@l 0-5| 5-10 | 10-15 | 15-20 20-25 | 25-30 | 30-35
A9~ | 10 12 16 18 14 10 8
3. (A) AUVAULAML: UdHLs
(B) Al HUlScll u=ell uquls Qe 2l ;
9,19,21,6, 12,18, 17,20
(C) AR e 2 [Adrel He UHIBId [due L :
L 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70
(QenieflAlAl 4wl 5 4 10 7 8 6
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4. (A ARud g [Adrel Hie ouBelll Id [AuHdls awll : 10

X; 0 1 [ 23] 4715 6 | 7
29[ 1 8 [ 28 [ 56 | 70 [ 56 | 28 | 8

(B)  slel [l 21 [AoHals ol : 10
ol 0-10 [ 10-20 [ 20-30 [ 30-40 | 40-50 [ 50-60 | 60-70 | 70-80
[~ 8 14 | 24 | 50 | 58 | 34 | 20 8

SECTION - B
5. ARAL S MCQs Hi2ll 15Ul YiRLAL BR AL : 10

() AUgls 2 Adias 2 WA S2el (LML AdA S
(a) 4,100 (b) 4,50
(¢) 100, 10 (d) 10,10

-~

(i) AR 2N Hiledl M2 olges 2l :
21, 13, 14,21, 12, 16, 14, 12, 19

(a) 21,14 (b) 21,12, 14
(c) 21,19, 16 d) 13,14
(i) % Ut [AdREML oigeslAUARL Z = 3M — 2 X il Heg2ll sraMl 2uddl Sl d
[zl M2 siel (il EHdl-2As-L Byd (GRARML S
(a) -1<j<l1 (b) 0<j<I1
(c) -1<j<0 (d -3<j<3
(iv) M X >M > Z & dl [dudl AR M X <M < Z S ol [l
QLY.
(a) -, - (b) kR, kWl
(c) Hd, skl (d) kUL ud
v) M X =10,Z=12,S =2 dlslel Rl [[uxdis LY.
(a) -5.0 b) 0
) 5.0 d -1
(vi) 5,5,5,5, 54 UG [duan .
(@ 0 (b)) 5
) 1 (d) RS DBU AR
(vii) 7, 10, 12, 151 (<R .
(a) 7 (b) 8
c) 10 d 15
(viii) W Q, = 42 A Q, = 76 Al Us [dua =
(a) 34 (b) 17
(c) 42 d) 76
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Attempt any two out of four questions :

1. (A)
(B)

2. (A)

(B)

©

3. (A)
(B)

©
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SECTION - A

Explain any two methods of collecting primary data.

[Max. Marks : 50

10

The following information shows Age of 30 Employees working in a Textile
industry. Taking one of the class as 15-24, construct frequency distribution :

16, 19, 25, 32, 25, 28, 33, 36, 37, 39, 44, 47, 49, 52, 53, 21, 23, 43, 42, 46, 34, 35,
41, 42, 45, 50, 51, 22, 26, 27.

10

Define Mean and give the name of different types of measure of Central

Tendency.
From the following frequency distribution, find Mean and Median :
Monthly Wages | 100 50 70 110 80
No. of Workers 15 20 15 18 12
Find Mode for the following frequency distribution :
Class 0-5| 5-10 10-15 | 15-20 20-25 | 25-30 30-35
Freq. 10 12 16 18 14 10 8
Define : Coefficient of Variation.
Calculate Quartile Deviation from the following data :
9,19,21,6,12,18,17, 20
Find Standard Deviation from the following frequency distribution :
Marks 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70
No. of Students 5 4 10 7 8 6
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(A) Find Bowley’s coefficient of skewness for the followin

frequency distribution : 10

X 0 1 2 3 4 5 6 7
Frequency 1 8 28 | 56 | 70 | 56 | 28 8

(B) Calculate Karl Pearson’s coefficient of skewness from the following data : 10
Class 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70 | 70-80

Frequency 8 14 24

50 58 34 20 8

SECTION - B
Give answer using appropriate alternative (Any five) : 10
(1) In how many parts Quartile and percentile divides the data ?

(a) 4,100 (b)
() 100,10 (d)

(i1)) Find Mode for the following data :
21,13, 14,21, 12, 16, 14, 12, 19
(a) 21,14 (b)
(¢) 21,19,16 (d)

4,50
10, 10

21,12, 14
13,14

(i11)) Range of coefficient of skewness for the distribution whose mode is calculated

with the formula Z = 3M — 2 X can be
(@ -1<5<1 (b)
(c) -1<j=<0 (d

(iv) If X > M > Z, then skewness is

(a) Positive, Positive (b)

0<j<1

3<j<3

and if X< M < Z, then skewness is

Negative, Negative

(c) Positive, Negative (d) Negative, Positive
(v) If X =10, Z=12, S =2, then Karl Pearson’s coefficient of skewness is

(a) -5.0 (b) 0

() 50 d -1
(vi) Standard Deviation of 5, 5, 5,5, 5 is

(@ 0 (b)) 5

(c) 1 (d) None of the above
(vii) Range of 7,10, 12, 15 1s .

(@) 7 (b) 8

(c) 10 (d 15
(viii) If Q, = 42 and Q, = 76, then Quartile Deviation =

(a) 34 (b) 17

(c) 42 (d 76
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